
 

 

DNA is a beautiful intricate structure. It can be read backward and forward, and zip and unzip. 
DNA is in the structure of a double helix -- like a spiral staircase. Untwisted, it would be in the 
shape of a ladder. The backbone of DNA (the supporting sides of the ladder) is comprised of sugars 
and phosphates, while the steps, which are nitrogen bases, are known as CGATs. C for Cytosine, G 
for Guanine, A is for Adenine, and T stands for Thymine. C can only pair up with G (C-G or G-C), 
and A can only pair up with T (A-T or T-A) because they have a specific bond -- a specific key to a 
specific door. Between the bases, they hold a bond called a hydrogen bond. There can not and will 
not ever be A-G or T-C pairings because their hydrogen bonds would not fit exactly.

The Structure of DNA
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